










Item:

Location:

Order:

Building Project:

0-23840-700
K&K Play castle

List of screw connections

1298840

Page 1 / 4

Platform at robinia posts, nut on platform side74 x SFRS1200001

per SC Total K&K-Item Marking

with screw security coating/FGB red
Hexagon head screw M12 x 120 DIN931 A21 x 74 x 3400700

.

Grey domed plastic cover cap SL 36 G1 x 74 x 3300016
.

Washer Ø 14  DIN1440 A21 x 74 x 3430129
.

Lock nut M12 DIN985 A21 x 74 x 3430021
.

Platform at robinia post4 x SFRS1200004
screw fixed by factory

per SC Total K&K-Item Marking

Grey domed plastic cover cap SL 36 G1 x 4 x 3300016
.

Lock nut M12 DIN985 A21 x 4 x 3430021
.

Standard bolting for parapet, handrail,220 x SFRS1210001
slide etc. at robinia posts

per SC Total K&K-Item Marking

colour red/RAL 2002 PA6
Screw cap - upper part M12 P21 x 220 x 3300055

.

colour red/RAL 2002 PA6
Screw cap - lower part, domed M121 x 220 x 3300054

.

Washer Ø 13  DIN125  A21 x 220 x 3430025
.

with screw security coating FGB red
Hexagon head cap screw  M12 x 160 DIN931 A21 x 220 x 3400702

.

Timber-course connecting chain for totter bridge/4 x SFRS1200009
totter bow to posts

per SC Total K&K-Item Marking

colour red/RAL 2002 PA6
Screw cap - upper part M12 P21 x 4 x 3300055

.

Lock nut M12 DIN985 A21 x 4 x 3430021
.

Washer Ø 13  DIN125  A21 x 4 x 3430025
.

colour red/RAL 2002 PA6
Screw cap - lower part, domed M121 x 4 x 3300054

.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

0-23840-700
K&K Play castle

List of screw connections

1298840

Page 2 / 4

Tent roof 72° 6 x 0.8 m with flag1 x SFAS1240012
HPL-plates at stay tubes and flag onto HPL-plates

per SC Total K&K-Item Marking

Washer Ø 10,5 DIN 125 B A260 x 60 x 3430014
.

Dome head security bolt M10x30 Resistorx A26 x 6 x 3400195
.

Hexagon cap nut  M10 DIN986  A260 x 60 x 3430011
.

Washer Ø 10,5 DIN9021   A26 x 6 x 3430086
.

Mushroom head screw square neck M10x30 DIN 6060 x 60 x 3400138
.

Tent roof 6 x 0.8 m with wind mobile1 x SFAS1240014
HPL plates at stay tubes and wind mobile onto HPL-plates

per SC Total K&K-Item Marking

Washer Ø 8.4 DIN9021 A26 x 6 x 3430102
.

Hexagon cap nut  M10 DIN986  A236 x 36 x 3430011
.

Washer Ø 10,5 DIN 125 B A236 x 36 x 3430014
.

Dome head security bolt  M8 x 20 Resistorx A26 x 6 x 3400673
.

Mushroom head screw square neck M10x30 DIN 6036 x 36 x 3400138
.

Slide support post below hill slide1 x SFAS1070004

per SC Total K&K-Item Marking

Washer Ø 13  DIN125  A22 x 2 x 3430025
.

 safety coated thread
Dome head security bolt M12 x 25 PinHexagon A22 x 2 x 3400622

.

Scramble-, ascending net etc.1 x SFAS1230009
at prefab foundation (item n° 15150)

per SC Total K&K-Item Marking

Washer Ø 13  DIN125  A24 x 4 x 3430025
.

Hexagon screw M12 x 25 DIN933 A24 x 4 x 3400018
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

0-23840-700
K&K Play castle

List of screw connections

1298840

Page 3 / 4

Slide run-out section (up to 2,00 m) on foundation1 x SFAS1070006
stone bolt assembly

per SC Total K&K-Item Marking

M12x160
Set of stone bolts for slide run-out section2 x 2 x 1070365

.

Slide run-out section (mini) stone bolt assembly1 x SFAS1070007

per SC Total K&K-Item Marking

M12x160
Set of stone bolts for slide run-out section2 x 2 x 1070365

.

Tunnel slide run-out section (shortl)1 x SFAS1070011
stone bolt assembly

per SC Total K&K-Item Marking

M12x160
Set of stone bolts for slide run-out section6 x 6 x 1070365

.

Security TORX wrench TR401 x SFWZ0000001

per SC Total K&K-Item Marking

Security TORX wrench TR401 x 1 x 3490081
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

0-23840-700
K&K Play castle

List of screw connections

1298840

Page 4 / 4

Allen key security hex socket AF81 x SFWZ0000005

per SC Total K&K-Item Marking

Allen key security hex socket AF81 x 1 x 3490057
.

Lubricating metal (30g box) incl. brush6 x SFWZ0000012

per SC Total K&K-Item Marking

Lubricating metal box à 30g1 x 6 x 5300039
.

Brush for lubricating metal1 x 6 x 5200026
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24


